Torts: Negligence Outline – Fall 2002 

Don’t forget to argue both sides! 

Negligence consists of four elements: duty, breach, causation & damages.  

· Negligence requires a negligent mental state.

· A reasonable person under the circumstances would have been aware of an unreasonable risk of harm.  

· This is an objective standard.  

· Additionally, all higher mental states (including actual knowledge) can provide proof of negligence.  Negligence is simply the easiest to prove.  

· Recklessness (awareness of a substantial risk that the harm would occur) is handled in negligence.  

· Negligence is the most common tort, volume-wise, and represents a vast amount of litigation.  

· There are no punitive damages in negligence.  

· Typically juries, not judges, determine negligence.  

Comparative Negligence – two kinds 

D uses this as a defense in his answer to the complaint & sets out how the P breached its duty of reasonable care. 


Policy: Allow P to recover (as opposed to contributory negligence, where Ps could not at all) and deter conduct.  


· pure comparative negligence (P responsible for their % of the damages) 

· modified comparative negligence (P’s ability to recover damages ends when P approaches 50% mark.)  

I. Duty 

a. Utility v. Risk Analysis (p. 142)


i. Utility 

1. Social value the law attaches to the interest?

2. Chance this interest will be advanced by this conduct? 

3. Chance the interest can be advanced by another method? 

ii. Risk

1. Social value the law attaches to interests imperiled?

2. Chance the act will cause invasion of interest to another? 

3. Extent of harm likely to be caused? 

4. Number of persons whose interests are likely to be invaded if risk happens?

b. Reasonably Prudent Person 

i. Ignorance or forgetfulness isn’t an excuse.  

ii. Proof of an accepted industry practice and D’s conformation can establish due care; when proof of accepted practice is combined with proof D ignored this, that may show breach of duty.  

1. If the custom in the industry is careless, the court can still find negligence.  


iii. The reasonable person in an emergency isn’t held to the same level of responsibility.  

1. Don’t have time to assess all the facts; probably will be forgiven for not known everything or for acting to preserve themselves.  

a. BUT can’t create emergency and then get off because it was an emergency!

iv. Disabled people – different standards.  Personal dignity has very high value. 


v. Reasonable children – usually hold to what’s reasonable for a child of like age, intelligence and experience.  

1. Child engaging in dangerous activities are held to a higher (adult) standard of care.  


vi. Insane people are liable for their torts

1. Sometimes, in cases where the insane person can’t understand their actions, there will be allowances. 

2. Did the person know there’s a risk? 


vii. Drunk people are liable for their torts (held to the standard of a sober person). 


c. Reasonable Professional 

i. Imposed on both people who really are professionals and those who pretend to be professionals.  

ii. Require expert witnesses to show what the standard of professional care is.  

iii. A simple mistake isn’t enough for the liability of a professional.  

1. Professionals not expected to know everything.  Just what an ordinary person in the profession would.  


iv. Medical Malpractice Rules

1. If doctor doesn’t possess correct degree of skill and learning or doesn’t apply it; 

2. Doctor must have done something in treatment which the recognized standard of good medical practice forbids, or neglected to do something it requires; 

3. Standard of medical practice in community must be shown by affirmative evidence, otherwise a jury will not be allowed to speculate what the standard is or whether the D departed from it; 

4. Negligence isn’t presumed, must be proven.  No assumption can be made of want of skill if patient doesn’t recover. 

5. Negligence must be established by expert testimony.  

6. Testimony of other physicians that they would have followed a different course isn’t enough for malpractice to lie unless the course deviated from one of the approved methods in the community. [The locality issue is dying or dead now.  National standards.] 


v. Informed consent

1. must have full disclosure of all material risks
a. if likely to affect patient’s decision 

b. Another objective standard – what a reasonable patient would want to know.  Protect doctors to act without fear of suit and also protecting patient’s autonomy. 


d. Shortcuts to Duty: 

i. Rules of Law

1. How do statutes condition the law? 

a. The statute provides the standard for the duty (what a reasonable person under the circumstances would do.) 

2. Negligence as a matter of law – under no circumstances could a reasonable jury NOT find that there was no negligence.  

a. This is very rare.  

b. Usually in certain situations – traffic, etc, where there are definite and repetitive circumstances.  

c. Why do we allow the legislature, in statutes to take things away from a jury?  Because the legislature is a bigger democracy than 12 people can be! 


ii. Violation of Statute

1. The statute defines the standard of care a reasonable person should have.  

2. Violation of the statute doesn’t constitute negligence per se.  

3. Three part test to see if statute leads to negligence per se: 

a. If violation of the statute results in an injury to a member of the class it was intended to protect; 

b. when the harm is the kind the statute was enacted to prevent; 

c. in public interest to apply the statute (court’s discretion). 

4. Excused violation of a legislative enactment isn’t negligence. 

a. violation is reasonable because of actor’s incapacity

b. actor doesn’t know or shouldn’t know of occasion for compliance. 

c. unable after reasonable diligence or care to comply 

d. confronted with emergency not due to own conduct 

e. compliance would involve greater risk of harm to actor or others. 


iii. Effect of the statute: there are three ways courts will handle violation.  Jurisdictions only pick ONE.   

1. negligence per se completely removes DUTY decision from jury and substitutes court’s decision. Judge decides duty exists.  Jury can eliminate liability for duty by deciding excuse. 
 What’s left is for jury to determine if the other elements exist.  (breach, causation, damages) 

a. Court does initial screening of whether there is an excuse 
b. Great for P’s attorney – don’t have to argue risk/utility. 

c. Why P’s attorney’s pursue these statute/negligence cases. 

d. Setting rules of conduct that act as deterrents to people’s behavior.  

e. When judge decides duty – saying that legislature has made for us the risk/utility analysis on p. 142.  = duty exists. 

2. Presumption of negligence – Presumption can be overcome by deciding excuse.  (no excuse available in negligence per se) This allows jury to determine if there’s an excuse.   Different assignment of responsibility about who determines if there was an excuse or not. 

a. Court sends issue right to jury.  (procedurally different than negligence per se.)  Amount of diligence court engages in is different.  

b. Net effect is the same. 

c. Saying that we presume that there’s a duty (make a presumption that legislature has engaged in risk/utility analysis) BUT in duty determination, jury can look to excuses to determine if there’s a defense to eliminate liability. 

3. Evidence of negligence – jury gets to weigh the legislative value judgment.  Shifting responsibility from judge to jury as nature of weight to give to legislative rule.  (can use or reject statute)

a. More flexibility when send to jury.  

b. Jury determines risk/utility 


b. Res Ipsa Loquitur

i. Generally: The doctrine of res ipsa loquitur ("the thing speaks for itself") allows P to point to the fact of the accident, and to create an inference that, even without a precise showing of how D behaved, D was probably negligent.

1. Example: A barrel of flour falls on P’s head as he walks below a window on the street. At trial, P shows that the barrel fell out of a window of D’s shop, and that barrels do not fall out of windows without some negligence. By use of the res ipsa loquitur doctrine, P has presented enough evidence to justify a verdict for him, so unless D comes up with rebuttal evidence that the barrel did not come from his shop or was not dropped by negligence, D will lose. [Byrne v. Boadle] [115]

ii. B. Requirements for: Courts generally impose four requirements for the res ipsa doctrine: 

1. No direct evidence of D’s conduct: There must be no direct evidence of how D behaved in connection with the event. [116]

2. Seldom occurring without negligence: P must demonstrate that the harm which occurred does not normally occur except through the negligence of someone. P only has to prove that most of the time, negligence is the cause of such occurrences. [116]

a. Example: If an airplane crashes without explanation, P will generally be able to establish that airplanes usually do not crash without some negligence, thus meeting this requirement.

3. Exclusive control of defendant: P must demonstrate that the instrumentality which caused the harm was at all times within the exclusive control of D. [117 - 118] (Example: P, while walking on the sidewalk next to D hotel, is hit by a falling armchair. Without more proof, P has not satisfied the "exclusive control" requirement, because a guest, rather than the hotel, may have had control of the chair at the moment it was dropped. [Larson v. St. Francis Hotel])

iii. Multiple defendants: If there are two or more defendants, and P can show that at least one of the defendants was in control, some cases allow P to recover. This is especially likely where all of the Ds participate together in an integrated relationship. (Example: P is injured while on the operating table, and shows that either the surgeon, the attending physician, the hospital, or the anesthesiologist must have been at fault, but is unable to show which one. P gets the benefit of res ipsa, and it is up to each individual defendant to exculpate himself. [Ybarra v. Spangard])

iv. Not due to plaintiff: P must establish that the accident was probably not due to his own conduct. [119]

v. Evidence more available to D: Some courts also require that evidence of what really happened be more available to D than to P. [119] (Example: This requirement is satisfied on the facts of Ybarra, supra, since the Ds obviously knew more than the unconscious patient about who was at fault.)


Injury standing alone ordinary does not indicate negligence.

[Very important – RiL is very, very rare – rare to have someone with exclusive control over something.  Also rare that we don’t know who was responsible and how it happened.]

Three effects of res ipsa loquitur: 


1. warrants an inference of negligence which the jury may draw or not as their judgment dictates  (least effect on outcome)

2. raises a presumption of negligence which requires the jury to find negligence if D doesn’t provide evidence to rebut the presumption. 

Raises a presumption and shifts the burden of proof to the D to prove by a preponderance of the evidence that the injury wasn’t caused by his negligence.   (greatest effect on outcome)

II. Breach 


III. Causation

a. Overview: can have causation in fact but no proximate cause.  If no proximate cause, then no liability.  

b. Causation in Fact – “But for” causation

i. Mostly focused on time and space issues.  

1. Measured by the degrees of probability – continuum of probabilities

2. Substantial contributing factor – is the risk greatly multiplied by the action? 

ii. Acting in concert

1. Lump together Ds acting in concert, treat as one entity.   

iii. Concurrent Causes: single harm resulting from independent acts

1. Both sources liable, assuming both were negligent, as long as either could have caused the harm.  

2. General rule: Ds action must be substantial contributing factor.

a. Case: Summers v. Tice, the hunters who shot a third.  Holding both responsible if a policy choice as a matter of legal fiction.  Burden of proof should shift to Ds to prove that they aren’t the one who hurt the P.  The Ds are in the best position to know. 

i. Subset: Enterprise liability – drug manufacturers held liable as a group and must prove if they didn’t manufacture the drug that made the P sick.  

c. Proximate Cause 

i. A blatant policy exercise. 

1. Highly related to duty. 

ii. Legal cause, fiction, to allow for liability – or not.  Highly subjective as to whether legal liability should be imposed after case in fact has been established. 

1. based on logic, common sense, policy, precedent, and ideas of what justice demands.  

iii. Test – 2 kinds, depending on jurisdiction.  In most cases, result will be the same depending on the test, but sometimes cases arise where there is exclusivity.  (on exam, analyze using both.)

1. Direct / Indirect – did the action directly cause the harm?  Emphasizes closeness in time and space.  

2. Forseeability – was harm directly foreseeable by a reasonable person? 

3. Relationship between the two tests – the more indirect, the less foreseeable.  The more direct, the more foreseeable.  

iv. Once proximate cause has been established for harm, D is liable for ALL resulting harm. 

1. Thin Skull rule – take the Ps as you find them.  If it’s found that D is cause of harm to P, D is liable for all resulting harm to that P no matter if foreseeable or not.  E.g., the schizophrenic driver. 

d. Intervening Causes

e. Shifting Responsibility 


IV. Damages 

a. Generally: 

i. Elements: 

1. Past Physical & Mental Pain

2. Future Physical & Mental Pain 

3. Future medial expenses

4. Loss of earning capacity 

5. Permanent disability & disfigurement.  


· Kinds of damages: 

· Nominal

· Compensatory/Actual   (Any one enough to satisfy)

· Economic (special): quantifiable: in determining worth of people, children are very hard to predict.  (And are worth less economically than adults in wrongful death actions.) 

· Medical expenses

· Lost wages

· Loss or impairment of future earning capacity
· Non-Economic (general): difficult to quantify. 

· Physical Pain & Suffering, Mental Anguish 

· Loss of function or appearance (physical disability, scarring)

· Emotional Distress (for purposes of exam, assume that mental anguish/emotional distress are enough to satisfy damage element as long as there’s a physical injury). 

· [Is negligent infliction of emotional distress ( is that an actual damage?  A few states have recovery for it.  Will talk more later.]

· Loss of enjoyment of life: damage.  

· [Can’t walk in woods, have sex – compensatable losses.] 

· Reduced life expectancy: increasingly a compensable harm (not on test). 

· Punitive: 

· In Intentional Torts, at least nominal damages to say that P is right and D is wrong ($1).  Either nominal or compensatory damages can be a basis for attaching punitive damages.  

· Assessed when D’s conduct is outrageous.

· In negligence, when conduct was willful and wanton. (Reckless)  

b. Joint Torteasors
i. Apportionment of Damages

1. Among Ds who are not acting in concert but represent distinct sources of harm: 

a. If damages can be apportioned – each pays their portion. 

b. If damages can’t be apportioned

i. Two options, depends on jurisdiction 

1. Joint & several liability states (majority): Ds jointly and severally liable for all damages.  P friendly. 

2. Proportional fault states: P must sue all potentially liable Ds.  If they don’t, won’t recover all their damages.  Ds liable only for their percentage.  No suits for contribution in proportional fault state.   

a. Ramifications: if P can’t sue all, the empty chair defense.  Fault proportioned only among the Ds there (value want Ps to recover, forces other Ds to get third D in court) OR allow Ds in suit to point to empty chair (value: don’t want Ds to pay for what they weren’t liable for.) 

ii. Four categories 

1. Actors knowingly join in performance of tortuous act

2. Actors failed to perform common duty

3. Special relationship between parties (master & servant)

4. No concerted action, but independent actors


iii. Acting in concert – how to determine? 

1. participating in some joint careless activity.  


c. Satisfaction & Release

i. Satisfaction is receiving full compensation for the injury based on settlement or verdict. 

ii. There can be only one satisfaction – P can’t cover more than 100% of damages. 

iii. Once P is satisfied, can’t proceed against any other D. D, however, can sue in contribution against another D. 


d. Contribution 

i. Two ways of suing in contribution, depending on jurisdiction: 

1. Amount of damages divided by number of Ds

2. Damages proportioned according to degree of fault.  Eg, D1 = 45%, etc. 

e. Indemnity

i. Complete shift of all damages owed from A to B.  

ii. Typically exists for contractual or special relationships (employee/employer)

iii. Shift entire cost of judgment from a tortfeasor whose liability to the P wasn’t based on its own wrongful conduct, but imposed on it by law because of the relationship to the tortfeasor whose wrongful conduct caused the injury.    


Additionally: 

Failure to Act 

Similar to duty 

Western tradition is that failure to help someone out (as long as you didn’t create the predicament or aren’t related) – you have no liability.  

Common law: no liability.  

UNLESS special relationship between D and: 

1. P [a direct relationship] 

2. Third person [indirect relationship] 

· Policy – individualistic culture and don’t have a duty. 

· Certainly amoral.  Law doesn’t impose a duty even to dial 911. 

· How are special relationships defined?  

i. By statute or by caselaw.  

· Inroads are being made to assign duty.  

i. Through tort law: judges & legislature 

ii. Recognizing the special relationships. 

· Courts are more willing to find special relationships & legislatures are more willing to create the guidelines.  

· How do the relationships come to exist?  

· Typically legislative & judicial creation (or elimination) of “special relationships” are driven by changing cultural norms.  

i. what the culture perceives as responsibility to act.  

ii. Enduring special relationships (parent – child) are indicative of entrenched cultural norms.  
V. Negligence Problem Analysis Path


a. Duty

i. The reasonable person under the circumstances. 

1. Policy: so we can have one objective standard to use to establish a standard of care, as opposed to millions. 


ii. Risk-Utility Sample: 

1. The first element of negligence, duty, exists to deter risky behavior that has little utility.  In order to determine a reasonable standard of care, the court will engage in a risk-utility analysis.  


2. Utility 

a. Social value the law attaches to the interest?

b. Chance this interest will be advanced by this conduct? 

c. Chance the interest can be advanced by another method? 

3. Risk

a. Social value the law attaches to interests imperiled?

b. Chance the act will cause invasion of interest to another? 

c. Extent of harm likely to be caused? 

d. Number of persons whose interests are likely to be invaded if risk happens?

iii. Why does this element exist? 

1. deter bad conduct with little utility. 


iv. Is there a short-cut to duty? 

1. Statute 

a. Is the person hurt the type the statute was designed to protect? 

b. Is the kind of harm here the type the statute was meant to prevent? 

c. Is it in the public value to apply the statute? 


d. Outcomes 

i. Negligence per se

1. Most common formula.  Unexcused violation is negligence per se, but that party may offer excuse or justification for violating. 

a. Excuses: incapacity, lack of knowledge of the need to comply, inability to comply, emergency, compliance poses greater risk than violation would.

b. Usually burden of proof on P to show violation took place.   

ii. Presumption of negligence

1. proof of violation creates a presumption that actor was negligent, but violator is free to rebut presumption by showing that the reasonable person would have acted as he did.  

a. No list of excuses.  

b. Burden of proof remains on P.  

iii. Evidence of negligence 

1. Treat violation as evidence of negligence to be considered with other evidence.  Jury can consider it with all other evidence.  

2. Unlike other approaches, not compelled to find him negligent.  

e. Sample: 

i. In cases where an issue before the court is the violation of the statute, each jurisdiction will have selected a particular test to determine the relative importance of the violation in establishing negligence.  The policy behind these tests is that legislatures are a greater democracy than courts of common law and are better equipped to establish standards of care.  The three most commonly used tests are negligence per se, where a court will determine that, if a statute has been violated and the violator cannot offer a valid excuse, then the violator is automatically negligent.  The second test is a presumption of negligence, which holds that violation of a statute creates the presumption that the actor was negligent; however, the actor may be excused if he can prove to the court that a reasonable person under the circumstances would have acted as he did.  The third test is evidence of negligence.  In this test, the evidence that the actor violated the statute is admissible in the trial, and it is but one of the factors the jury will consider when it deliberates on the actors potential negligence.  


2. RiL

a. Another short-cut to duty.  

b. Can’t ID who’s at fault

c. D had entire control over instrumentality of harm. 

d. Policy: 

i. Compensate innocent Ps 

ii. Interest of society to make things safer. 


v. Additionally, Failure to Act, if appropriate

a. No legal duty to help someone or pick something up – unless special relationship.  

b. Courts are hesitant to impose duties upon parties if there’s a burden involved.  

c. Policy: Has made P’s situation no worse by his inaction.  

d. Exceptions: 

i. if person created the risk of harm.

ii. Duty because of special relationship to the victim. 

1. (D not source of risk)

iii. Duty because of special relationship to tortfeasor (psychiatrist, etc.) 

iv. Duty based on innocent creation of risk

v. Duty based on offering a service to another

1. not exercising reasonable care

2. leaves other in worse position


b. Breach 

i. The second element of negligence is breach of a duty.  In order to show breach, the P must demonstrate that the D didn’t act like a reasonable person under the same circumstances would have acted by adopting the appropriate standard of care.  Because in this case the established standard of care is X…. 


c. Causation 

i. Causation in Fact

1. Sole Cause or Acting in Concert/Concurrent Causes?

2. How to distinguish from concurrent causes from acting in concert.  


a. Acting in concert

i. Same act/transaction/occurrence (closeness in space and time – shared goal or interest, like racing.) 

ii. If actors are acting in concert, then they are lumped together for the purposes of apportioning damages.  


b. Concurrent cause
i. Single harm arising from independent acts with two or more actors. 

ii. D’s actions must be substantial contributing factor to the harm.
 

c. Sample: 

i. The court will next determine if the Ds acted in concert or if they were concurrent contributors to the P’s injury.  Acting in concert is determined by examining if the actors were engaging in a common reckless or negligent conduct for a common goal.  Concurrent actors, however, are determined when each has been a “substantial contributing factor” the harm, and it is very difficult or impossible to separate the actors’ conduct.  A “substantial contributing factor” is a legal fiction created by the court for the purpose of deterring reckless or negligent conduct and to compensate an injured plaintiff.  Actors are determined to be operating independently when they do not share a goal or an interest, and their conduct is not close in time and space.  

3. Substantial Contributing Factor to the Harm

a. Policy Considerations 

i. This is a legal fiction, created when it’s very difficult or impossible to separate the actors’ conduct.  We create this legal fiction because we want to deter conduct and because we want to compensate the innocent P.  Additionally, we want to stop the chain of liability so that people who are not substantially contributing the to harm do not have to pay damages.  


ii. Proximate Cause 

1. If no proximate cause, then no liability. 

a. Sample: 

i. After determining if there was causation in fact, the court will next determine if the D’s actions were a proximate cause of the P’s harm.  If the court finds causation in fact but no proximate cause, there will be no liability for the D.   However, once proximate cause is determined, the D is liable for all resulting harm.  Proximate cause is a policy decision made by the legislature or courts to determine liability based on logic, common sense, policy, precedent and ideas of what justice demands.   Determining proximate cause is similar to determining duty. 

2. Direct/Indirect or Foreseeability Test

a. Sample

i. The court will determine proximate cause by either the direct/indirect test or the forseeability test, depending on jurisdiction.  This is determined by the legislature, a greater voice of public policy than the courts.  

b. Direct/Indirect 

i. Time and space.  Direct consequence.  

ii. Sample: 

1. If the court is in a jurisdiction that adopts the direct/indirect test, it will look at whether the harm was a direct result of the D’s conduct.  

c. Forseeable

i. Was the harm foreseeable, given the conduct?

ii. Take the P as you find them – thin skull rule 

1. Mental distress – deal with it, too.  

iii. Sample: 

1. The foreseeability test looks at whether a reasonable person under the circumstances would have foreseen a significant risk of harm because of the conduct.  


3. Intervening – Superceding causes

a. A place to defeat proximate cause. 

i. Intervening cause – still have proximate cause

ii. Superceding cause – defeats proximate cause. 

b. How to recognize? 

i. Depends on how risky D2’s conduct is. 

1. Use mental state of D2.  

2. Can use action of D2.  

ii. As a matter of policy, do not expect a negligent D to forsee an intentional act of another.  

iii. Sample

1. Even after determining that proximate cause exists, the court will need to determine if the second defendant’s intervening action served as a “superceding cause” that will absolve the first defendant of liability.  Determining a superceding cause  can be done by examining the mental state of the second D and whether the conduct egregious – and making a policy decision about whether to shift responsibility onto the shoulders of the second D.  

a. P will never argue for this, because it eliminates one of the pool of people who could pay. 

d. Damages
i. Kinds of damages 

Economic/non-economic damages.  

ii. Jurisdiction 

1. Proportional – or – 

2. Joint & several liability 

a. Sample

i. In a joint and several liability jurisdiction, the apportionment of damages favors the plaintiff.  The plaintiff may sue either D for 100% of the damages, regardless of how much of the harm that D was responsible for.  In return, the D may initiate a suit in contribution against his fellow tortfeasor to recover the portion of the damages that he paid that were the other D’s responsibility.   The policy behind joint & several liability is to enable a P to recover 100% of his damages by initiating a single suit and by being able to target the D most likely to pay his damages.  


3. Proportional

a. In a proportional liability state, the P must seek damages from each D according to the percentage of liability each D is responsible for.  The policy behind proportional liability is to favor Ds and not force them to pay more than their fair share of damages and to prevent deep-pocketed Ds from paying 100% of damages when their proportion was small, especially in cases where their fellow tortfeasors are unable to pay or are unavailable for suit.  

!! Don’t forget comparative negligence!!!
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